YWinnie The Pooh Level 4 MName
Holding the paper vertically, plot each point on the axes and connect therm in arder, Do
not connect the shapes to each ather,

Shape 1 -2, 3) Shiape 7 Shape 13 Bhape 21
113 -9, 4 (1,113 -1, 08, -1
-6, 15) (-2, 5 i-1,113 (-4, 3 (10, -12
(-6, 163 (-10, 83 i-1,12 (5,3 (11, -13)
-5 17 (-10, 123 (0, 12 (1, -15)
-4, 17 -9, 13 {0,113 Shape 14

(-4, 183 (-10, 14 i1, -4 Shape 22
03,19 (-10, 163 Shape 2 (1, -2 (5, -1
2,19 -9, 18} i-1,113 i-2, 13 9, -113
-1, 183 -7 18) (-2, 10 (-4, (10, -117
1,17 (-6, 163

4, 167 Shape 9 Shape 15 Shape 23
(5,15 Shape 2 (0, 14 (0, -2 05 -113
5,12 (-4, 17 (-2, 14 (1, -4 (3,-9
(6, 12 (-1, 17 (-3, 120 (2,-9
7,117 (-2, 13 Shape 16 (0, -2}
(%, 117 Shape 3 (0, 14 (-4, -7 i-1,-8)
(9, 107 4, 12 (-, -4 (-4, -9
09, (3,12 Shape 10 -7, -13 -7, -11)
(10, 2) 03,13 9,9 -7, 0 i-9,-15)
(10, 53 4, 13 9,8 (-9, -18)
9,3 4,12 (75 Shape 17 (-7,-19)
10, 0 5 12 53 (-, -4 (-4, -19)
(11, -2 4, 117 i, 4 (-2, -2 i-2,-17)
(11, -4 (5, 107 2,5 i-1,-16)
(9, -6) (6, 107 (1,8 Shape 138 (0, -17
(10, -8y (7,11 i0, &) 053

(10, -117 (%, 107 (-2, 4 (B, 13 Shape 24
(11,-117 (=9 i-2,3) (7, -2 (3,-9
(12, -13) (T (0,13 (7, -4 (5 -2
(12, -15) 5,6 2,0 06, -5

(10, -12) (4,6 i1, -2 (7, -6 Shape 25
(s, -19) (1, & (-1, -4 (9, -6} (-3, -2
7, =203 (0,7 (-3, -2} (-2, -2
i, 20y i-4,-7 Shape 19 (-2, -0
0, -17 Shape 4 i-5,-7 (6, -5)

-3, -19 (1, & (-8, -6) (5, -8} Shape 26
-, -20) (2,8 i-11,-3) 05, -113 (0, -2)
(-2, -20) i, -13) -2,-7
i-11, -18) Shape 5 Shape 11 (6, -16)

i-13, -16) (2,12 i-2,3) Shape 27
15, -12 03,12 -3, 4 Shape 20 i-1,-16)
i(-15,-8) (-2, 4 (6, -13) i-2,-15)
i-14,-5) Shape @ (7, -1

i-11,-3) 3,15 Shape 12 08, -1 Shape 238
-12,-13 (4,15 (-7, 4 (10, -14 54
i-11,-13 (5,14 (-2, 5 (10, -16) (6, 5
-2 1) (8, -19

(-, 2



